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Your JCL must be very precise to yield an effective run
file. Let's work through a few common errors
together.

We will cover the following types of errors:

Spacing Error
Dating Error

Comma Error
Spelling Error
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Fig 1
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Q B EEE|

Print S Help

To check for JCL

e e xxxxxxxnxx T0p OF Data xwxwexs
000001 //S640] he 4OKP1 el W eI i)
00002 7/ [l o T 1 F command feature

Please try again

e TEST..LTB(RUNPTSUD) ;
77% RURTICE oS00 0u725/03 known as 1JCK. This

J7xwnnnnnnunsnnmnnnxnnnnnnnnnnnERAER AL RN EARRR RO i i
/7= TO FIND THE NUMBER OF UNIQUE OUTPATIENTS WHO | function WI” alert us
7% DIAGNOSED WITH SUBSTANCE USE DISORDER (SuD) Itfeli=Igge isRiluyil Wis1=}
900008 7/« ALTO WEALTH GARE SYSTERH FROW DECEMBER 10 FEGi NETCTI
BOBODY //x=xxmenmnxrnxennnnnennnnnnnsnrennnnnnnnennxsnss i
000010 //STEP1 EXEC SAS
000011 7/IN1_ DD DSN-HDPPRD.HDP .SAS.SE02(0), DISP=SHR
77TERPT DD DS ,PASS)
1" SPACE=(CYL, (608,225) ,RLSE) ,UNIT=RHTBIG
000014 //TEHP2 DD DSN=S64OKP1.TWO,DISP=(,PASS), Type !ICK on the
008015 // SPACE=(CYL, (608,225) ,RLSE) ,UNIT=RHTBIG N
908616 //TENP3 DD DSK-S6AQKP1..THREE ,DISP=( ,PASS), command line to
000017 // SPACE=(CYL, (608,225) ,RLSE) ,UNIT=RMTBIG i i
F1=Help i F3=Exit F5=RFind Fb: run this function.
Right  F12=C
CAPS NN INSERT | 09:54:09 IBH-3278-2

Connand
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Fig 2 - That answer was incorrect. Please try again

That's correct
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B EEH

4l PrintScreen  Setup  Help

S640KP1.TEST.LIB(NUNPTSUD) - 81.07 LAST CC WAS 08

Scroll ===> PAGE

wxxxxnnxunnxunxxenxe TOp OF DaLa wxxxxxussxexsixnxxunsxessreess
STATEMENT FLAGGED IN JOB "SGWOKPIE™ MAXINUM SEUERITY WAS 8

000001 //SGAOKP1E JOB XXXUNKR9 ,SGHOKP1, 1JCK has alerted us of
000002 7/ WSGELASS R, NOTIFY-ESVSUID

PSR T R AT an error. To see the
000081 7/« RUN FILE:NUNPTSUD 0u/25/03 ;

el feuieeri o ctirc red message,
000006 7/« 10 FIND THE NUMBER OF UNIQUE OUTPATIENTS ;

007 /7 DIAGNOSED WITH SUBSTANCE USE o1soroEr (sulRACCRNYIRStelge) | IaleluYy}
000069 7/« ALTO HEALTH CARE SYSTERN FROM DECEWBER 10NN
PITITyri | Sing FS.
000810 //STEP1 EXEC SAS
000011 //IN1 DD DSN-HDPPRD.HDP.SAS.SE02(0), DISP=5

//1H DD DSH-MDPPRD .MOP.SAS . SE@2( D)
EAY6020E_EXPECTED CONIINUATION NOT RE
Fi=Help F2=Split F3=Exit i F7=Up

F8-Doun F10-Left ight
CaPs WU 6 18H-278-2

Erase EOF New Line
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Fig 3
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EDIT S64OKP1 . TEST.LIB(NUHPTSUD) - 01.07 Colunns 00001 00072
Connand scroll PACE

000003 /7 THIS JCL 1S IN SHOKP1.TEST.LIB(HUNPTSI
00000 77+ RUN FILE:NUWPTSUD LvEa Take a close look at the red

000005 //xxmxrnxmmnmxnsxnmxnnnnnsnnnnnnenensners i
A e rgeregrgrmgpotyed crror message. What did
000007 //* DIAGNOSED WITH SUBSTANCE USE DISORDER |NuINe[sMl(elile g
0800008 /7% ALTO HEALTH CARE SYSTERH FROM DECEWBER
00000 //useneasnensenssusnsassnennsmnnnenmertersmhmmmmns
000010 //STEP1 EXEC_SAS

77IN1 DD DSH-HDPPRD_HDP.SAS.SEG2(6), DISP=SHR

/ITENP1 DD DSN=S6UOKP1.ONE,DISP=( ,PASS) ,
SPACE-(CYL, (600,225) RLSE) ,UNIT-RHTBIG
pLit  Fa-Exit F5RFind  Fo-Rchange  F7-Up
wap  Fl0-Left  F11-Right  F12-Cancel

[_clear | ErascEOF | Newtine | Pa1 | Pa2 [ Pa3 |





Fig 4


	[image: image5.png]HOK If you said we have a

900003 //% THIS JCL IS IN S6HOKP1.TEST.LIB(NUNPTSUD) Shadig Suckiiol s
800004 //* RUN FILE:NUMPTSUD Iy correct. Online 11
T e s there is an extra space
800006 //% TO FIND THE NUMBER OF UNIQUE OUTPATIENTS|

000007 /7% DIAGNOSED WITH SUBSTANCE USE DISORDER (SPeiiliNE) S IeT]
800068 //x ALTO HEALTH CARE SYSTERM FROM DECEMBER TRNEIII=Flsf=lile Mi=ljlo\7-N1a

D e e L L ISP ———
088010 //STEP1 EXEC SAS
000011 //IN1 DD DSN=MDPPRD.MDP.SAS.SE02(0), DISP=SHR

980012 //TEHP1 DD DSN=S648KP1.0NE,DISP=(,PASS),
000813 // SPACE=(CYL, (60,225) RLSE) ,UNIT=RNTBIG

CaPs il 09:56:43 1BN-3278-2

e





Fig 5
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000610 //STEP1 EXEC SAS
008811 //IN1 DD DSN=HDPPRD.MDP .SAS .SE62(8) ,DISP=SHR
//TW1 DD DSH=HDPPRD .MDP .SAS.SE02(8), DISP=SHR
CAY6020E EXPECTED CONTINUATION NOT RECEIVED
CAY6103U DISP PARAMETER OMITTED FOR DATA SET “MDPPRD.HDP.SAS.SE02(0)"
- DISP=(NEV,DELETE) ASSUMED
CAY6O72E UNIT NAME NOT SUPPLIED FOR NEW DATA SET
CAYGOBLE DISP TNCOMPATIBLE WITH DSHAME

000012 //TEMP1 DD DSN=S640KP1.0NE,DISP=(,PASS),
0680013 // SPACE=(CYL,(600,225) ,RLSE) ,UNI
000014 //TEMP2 DD DSN=S640KP1.TW0,DISP=(,PASS
000815 // SPACE=(CYL,(600,225) ,RLSE) ,UNI
000616 //TEMP3 DD DS 640KP1. THREE ,DISI A

lelp F2=Split F3=Exit We've removed the

F9=Swap F % space but, the red error

message hasn’t gone
away. Let’s run !JCK
again and see if our
problem has been
eliminated.

Erase EOF





Fig 6
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PrntSereen  Setup  Helg
File Edit Edit Settings Menu Utilities Compilers Test Help

000006 // T0 FIND THE NUMBER OF UNIQUE OUTPATIENTS WHO VERE

000007 //» DIAGNOSED WITH SUBSTANCE USE DISORDER (SUD) IN THE PALO
000008 //x ALTO HEALTH CARE SYSTERH FROM DECEWBER T0 FEBRUARY OF Fyd
DB

000010 //STEP1 EXEC_SAS

000011 /7IN1 DD DSN-HDPPRD .HDP .SAS .SE02(0) ,DISP=SHA S 1 ‘
900812 //TENP1 Pass) Ui (el s
000813 [CONCIRPHRERSRTIENE know that we now
000014 DD DSN=S64OKP1.TWO,DISP=(,PASS),

000015 ROt have a clean run file.
000016 //TENP3 DD DSN-S6HOKP1. THREE DISP=(,PASS) ,

000017 77 CVL, (600,225) ,RLSE) ,UNIT=RHTB]

000018 //0UTH D .NUPTSU

800819 // DISP=(,CATLG),UNIT=CART,VU0L=(,,

000020 //HAINFILE DD DSN-HDPPRD.SYS .SAS _NAT .LiB

000021 //LIBRARY DD DS!

000022 //SYSIN DD =

000023 OPTION NOCENTER LS=180 PS=66 FHTSEARCH=(LIB2);

CAPS NI 03 [0H-3278-2

New Line.
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Fig 7

	[image: image8.png]Correcting JCL Errors

o

EDIT

Setup  Help

UMPTSUD) - ©1.67

608007 //= DIA

GNOSEN
O e AU Tl That snsier was incorrect,
EXEC

P T I Y R Flcse . again

608816 //STEP1
008011 //1N1
000012 //TENP1
000013 //
000014 //TENP2
000015 /7
000016 //TENP3
006017 //
606818 //0UT1
fana10 7/

Fi=Help
F

DD DSH
bisp.

Then run 1JCK

000023 OPTION NOCENTER LS=180 PS=66 FHTSEARCH=(LIB2);

F2-split

M DECEMBER TO FEBRU|

IDPPRD .HDP .SAS . SE02,DISP=SHR
JPASS)
), UNIT=RHTBIG

RHTPRD . S640KP1 . SAS . SUD .NUHPTSUD
cati ey, UNI

DISORDER (SUD) IN pigy

Let’s try another
one. There is an
error here, take a
quick look to see if
you can find it.

F3-Exit F5-Rfind  F6-Rchange  F7-Up
Fl0-Left  F11-Right  F12-Cancel

il

10:03:38 IBH-3278-2
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Fig 8 - That answer was incorrect. Please try again

That's correct

	[image: image9.png]000009
006010
006011

000012
000613
000014
006615
006616
000017
000018
000019

Correcting JCL Errors

SN S S e

//STEP1 EXEC SAS

//IN1 DD DSN=HDPPRD .MDP .SAS .SE62,DISP=SHR

//IM1 DD _DSH=MDPPRD .MDP .SAS . SE62,DISP=SHR

CAY6099% GENERATION DATA GROUP “MDPPRD.MDP.SAS.SE02' SPECIFIED WITHOUT
A GEMERATION NUMBER - ALL MEMBERS SELECTED

//TENP1 DD DSN=SGHOKP1.ONE,DISP=(,PASS),

7 SPACE=(CYL, (600,225) ,RLSE) ,UNIT-RHTBIG

7/TEWP2 DD DSN-S6HOKP1.TWD,DISP=(,PASS)

7 SPACE=(CYL, (600,225) ,RLSE) ,UNI

7/TENP3 DD DSN=S640KP1.THREE ,DISP=( ,PA Take a good look at the
7" RN RONCRIINTY red error message.
770UT1 DD DSN=RHTPRD .S640KP1 . SRS .SUD | o

/7 ORISR What is missing?
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Fig 9
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AUSTIN is confused
about the file we
want, we need to

make sure we select

the last updated file.

//STEP1 EXEC SAS
//IN1 DD DSN=HDPPRD.MDP.SAS.SE82,DISP=SHR

We can do this by placing (0) after the
fiscal year that we have selected. In
this case, SE02. (0) indicates the most
recent generation
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Fig 10
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File Edit Edit_settings Menu Utilities Compilers Test Help

EbIT
Connand ==
000006 //%
000007 //%
000008 //%
090009 /
000010 //STEP1 EXEC SAS
000011 7/IN1 DD DSN=1DPPRD .10P .Sas .SE 02)P=sHr
HSG>
HSG>
HSC>
== HSG>
000012 //TEHP1 DD DSN-S640KP1.OHE,DISP=( ,PASS),
000013 7/ SPACE=(CYL, (600,225) ,RLSE) ,UNIT-RHTBIG
000014 //TEMP2 DD DSN=SG4OKP1.TWD,DISP=(,PASS),
000015 /7 SPACE=(CYL,(690,225) ,RLSE) ,UNI T~
000016 //TEHP3 DD DSN=S640KP1.THREE ,DIS
000017 SPACE=(CYL, (600,225) ,RLSE) ,UNI
000018 DD DSN-RHTPRD .S6A0KP1 .SAS . SUD .NUHPTSUD ,
800019 DISP=(,CATLE) ,UNIT=CART ,UOL=( , ,,2) ,EXPD





Fig 11 - That answer was incorrect. Please try again

That's correct
	[image: image12.png]Correcting JCL Errors
Q

Help

et
Comnand
Guoone 7/ 1D
Gao0ar 7+ pinchoseD I oRDER (SUb). I THE pato
000008 //= ALTO HEALTH MESSREEES CCEMBER TO FEBRUARY OF FY02
Shans 77asoesonconre ORI, .- c.c0.10 50t
SRt //<TER EXEC ons
BR00T1 /711 BD BN NOPPRD.HDP.SAS.SE02(0) DISP-SHR
77100 B DSn-MOPERD-HDr -303-SE 07 DISP-suh
v os0u GENENATION DATa GROUF -VFPID TBP-SRS SE02" SPECIFIED Ui THOUT
R GENERATION NOIER - AL WEVCRS SELFOTED

000012 //TEWP1 DD DSH-S6HOKP1.ONE,DISP=(,PASS) ,
000013 7/ SPACE=(CYL, (600,225) ,RLSE) ,UNIT-RHTBIG)
000814 //TENP2 DD DSH-S64OKP1.TUD,DISP=(,PASS) , Great, now
000015 7/ SPACE=(CYL, (600,225) ,RLSE) ,UNIT-RHTBIG) i
000816 //TEWPS DD DSN-S64OKP1.THREE ,DISP=(,PASS) , check to see if
000017 7/ SPACE=(CYL, (600,225) ,RLSE) ,UNIT-RHTBIG) i
/AN A e bty our JCL is clean.
008819 // DISP=(,CATLE) ,UNIT=CART ,UDL~( ,,,2) ,EXP
Fi=Help Fousplit’  FOlExit F5-Reind 0
F8=Down Fo=Swap  Fi0-Left  Fi1-Right  Fi2-Cancel

CAPS NUW INSERT ' 10:05:18 1B1-3278-2





Fig 12 - That answer was incorrect. Please try again

That's correct

	[image: image13.png]Correcting JCL Errors
S 1|

Close. Setup _Help

Q

eorr seuske LS oc wns_on
Comnana seral
aaon: /7« 10N L W outearieNTs wio wEre
PITTT R IR o v vos e
Q08008 /7% ALTO HE
000000 //=nannines NONSRIEIIRI, || 700 DT
8081 //STEP EXEC Sas
900011 7/IN1 DD DSN-HDPPRD.HDP.SAS .SE02(0) ,DISP-SHR

71m o

EAY6099U GENERATION DaTn GROUP

® GENERATION WUMIER - ALL WEWGERS

800012 //TEMP1 DD DSN=S64OKP1.0NE,DISP=(,PASS)
000013 // SPACE=(CYL,(600,225) ,RLSE) ,UNIT=RHTBIG
000614 //TENP2 DD DSN-SG4OKP1.TUD,DISP=(,PASS), Great, now
000015 7/ SPACE=(CYL, (609,225) ,ALSE) ,UNIT-RTBIG :
006616 //TENP3 DD DSN-SG4OKP1 . THREE ,DISP=( ,PASS) check to see if
000017 // SPACE=(CYL,(600,225) ,RLSE) ,UNI MTBIG B
900018 //0T1 DD DSN-RNTPRD.S6u0kP 3 .sns.sub.tunprsup, [CLTIEN (Ol NIEREIEET N
000819 // DISP=(,CATLE) ,UNIT=CART,U0L=(,,,2) ,EXPDT:
Fiofelp  F2oSplit’  FOCExit | FSREiG  Fo-M
F8=Down Fo=Swap Flo-Left F11=Right  F1

Caps NN INSERT 18 1on-3278-2

Erase EOF
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Fig 13 - That answer was incorrect. Please try again

That's correct
	[image: image14.png]Correcting JCL Errors

1t ce uns_ o
Gomand S ace
oo00ms ; - :

000007 /.

Q00008 // ALTO You're getting

000010 //TEM EXEE. S5 the hang of

000011 //IN1 DD DSN=MDPPRD .MDP .SAS . SE| i 4
EpEANE R Bt this, let's try

500813 /1 i
Soa0Ta /ENP2 Rttt another one.

000015 // CVL(680,225) LS|
/AN gty Run a check to
000017 /7 SPACE=(CYL, (609,225) R 5
R e e see what might
900019 7/ DISP=(,CATLE) ,UNIT=CART]
/Rt RREs be wrong here.
000021 //LIBRARY DD DSN~-HDPPRD..HDP _FHTL|
000022 //SYSIN DD *
6 FHI
elp F3-xit F5-Rfind  Fé-Rchange  F7-Up
Fl0-Left  F11-Right  F12-Cancel
Caps MUK 10:06:54_181-9278-2
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Fig 14 - That answer was incorrect. Please try again

That's correct

	[image: image15.png]Correcting JCL Errors

Q
Edit PrintScreen  Setup Help
File Edit Edit_Settings Henu Utilities Compilers Test Help

EDIT S640KP1.TEST.LIB(NUMPTSUD) - ©1.07

Connand ==->

LUIDRARURIL RUA NN Take a close look at the red error
000007 //% DIAGNOSED WITH SUBSTANCE| . : 2
[T AT message. What is going on here? The
800009 7/xexnxnnnnmxxnnnnrrnnRLs i

o8 o messages are tellllr)g us that we have
R L DR TRy “space parameter” problems.

660612 //TEHP1 DD DSN-SG4OKP1.ONE,

800013 // SPACE=(CYL,(608,225) ,RLSE) ,UNIT=RHTBIG

000014 //TEMP2 DD DSN=S640KP1.TW0,DISP=(,PASS)

SPACE=(CYL(608,225) ,RLSE) ,UNIT=RHTBIG

800016 //TEMP3 DD DSN-S64OKP1.THREE,DISP=(,PASS) ,

000017 // SPACE=(CYL, (600,225) ,RLSE) ,UNIT=RHTBIG

Fi=Help plit F3-Exit i Fé=Rchange  F7-Up
F8=Down i F12-Cancel





Fig 15

	[image: image16.png]Co

EDIT
Conmand
000006
808007

800008 /.

000009
000010
000011
008012
000013
000014

000015

000016
008017

Fi=Help F2=Split
F8-Down F9-Suap Flo-Left F11-Right  F12-Cancel

rrecting JCL Errors
In Job Control Language, if the

e sewp | Statement describing the IN or
i OUT takes up more than one

the first line. We actually only
//% TO FIND THE NUMBER OF UNIQUE OU .
VARSI PR st have one error here. Where is

s -
7/STEP1 EXEC SAS

//IN1 DD DSN=MDPPRD.MDP .SAS . SE02( 0 Yes,
77TEWP1 DD DS

7 SPACE=(CYL, (608,225) ,RLSE) ,UNI

7/TEWP2 DD DSN-SG4OKP1.TWO,DISP=(,PASS)

7/TEWP2 DD DSN-SGNOKP1.TWO,DISP=( ,PASS)

CAY60B3E SPACE PARAMETER NOT PROUIDED FOR NEW DIRECT ACCESS DATASET

7" SPACE=(CYL(600,225) ,RLSE) ,UNIT=RHTBIG
" SPACE=(CYL (600,225) ,RLSE) ,UNIT-RHTBIG
CAY60065 UERB “SPACE" IS UNKNOWN

//TEHP3 DD DS 640KP1. THREE ,DISP=(,PASS) . .
7 SPACE=(CYL, (689,225) RLSE) ,UNIT-RIE CEECRel (0 Qo 4
F3=Exit F5=Rfind
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Fig 16 - Yes, that's it.

	[image: image17.png]Correcting JCL Errors
AT In Job Control Language we

Edit PrintScreen  Setup must place a comma after each
i statement. In other words, for
EDIT I R aroRe each specification of your file,

Conmand you should have a comma right

000006 //* TO FIND THE NUMBER OF UNIQUE OU . R

600067 /7% DIAGNOSED WITH suesTance use or LT M URAIEIE =T IR

600008 //x ALTO HEALTH CARE SYSTERM FROM DIRNIEAVRIVIGRIEREs

000009 //%xxxummnnnnmnnnmnnnnsnnnsnnnnsnns .

000010 //STEP1 EXEC SAS Yes that's it.

000011 //IN1 DD DSN=MDPPRD .MDP .SAS . SE 02 ( 0750

000012 //TEHP1 DD DSN-SG4OKP1.ONE,DISP=(,PASS),

000013 // SPACE=(CYL, (600 28 g

000014 //TEMP2 DD DS 64 0KP1, U
SRRl Yep, there's an
CAY6O83E SPACE PARAMET error. [\ DIRECT ACCESS DATASET

600015 // SPACE=(CYL(698,225) ,KLSE) ,UNLI=RHI DY
" SPACE=(CVL (608,225) ,RLSE) ,UNIT=RHTBIG
CAY6006S UERB “SPACE™ IS UNKNOWN

008016 //TEMP3 DD DS 640KP1.THREE ,DISP=(,PASS) .

000017 /7 SPACE=(CYL, (680,225) ,RLSE) ,UNIT-RICEERel € RHCI 1Y
F1=Help F2=Split F3=Exit F5=Rfind

F

oun Fo=Swap  F10=Left  Fi1=Right  Fi2-Cancel
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Fig 17 - Yes that's it.

Yep, there's an error.
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File Edit Edit_Setti Conpilers Test Help

EDIT S6uOKP1 TEST IS
Connand =--f Scroll ===> PAGE
000006 L p LOVYE OUTPATIENTS WHO WERE
000007 //= DIAGNOSH E DISORDER (SUD) IN THE PALO
000008 //% ALTO HE] OM DECEMBER T0 FEBRUARY OF FY02
000009 //<xnnsxsnd b o
000010 //STEP1 EXEC SAS Let’s see if this took
000011 7/IN1_ DD DSN=HDPPRD.HDP.SAS .SE62(8) ,DISP=SHR
0800612 //TEMP1 DD DSN=S648KP1.0NE,DISP=(,PASS), care of the
000013 CYL, (600,225) ,RLSE) ,UNIT-RHTBIG  [olcel) (30 e R |
800614 //TEMP2 DD DSN=S648KP1.TW0,DISP=(,PASS),

and run a check.

SPACE=(CYL , (609,225) ,RLSE) ,UNIT=RHTBIG

7/TENP3 DD DSN=S6HOKP1.THREE ,DISP=(,PASS) ,
SPACE=(CYL, (608,225) ,RLSE) ,UNIT=RHTBIG
F2-Split xit F5-Rfind  F6-Rchange  F7-Up
F9-Suap eft  Fi1-Right  F12-Cancel





Fig 18 - That answer was incorrect. Please try again

That's correct
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EDIT

Connand

000006
000007
000008
000009
000810
000011
000012
000013
000014
000015

000016
000017
000018
000019
000620
000021

000022
000023

F1-Help
Fa=Doun

Setup  Help

sguaer T B i 1su0) - 01.07
170 TOPTD ™ PATIENTS W0 ERE
77+ oiacwosen un BIEEEEREIETES woen (su0) 1 e
77% ALTO HEALTH DGR see any
T rermexeennee e e e e e

7/STEPT EXEG Sas

//IN1 DD DSN=HDPPRD .HDP .SAS .SE62(0) ,DISP=SHR
//TEMP1 DD DSN=S648KP1.ONE,DISP=(,PASS),
" CYL,(608,225) ,RLSE) ,UNIT:
J/TENP2 DD DSN=S6NGP1. TW0,DISP=(,PAST),
7 SPACE=(CYL,(600,225) RLSE) ,UNIT-RITBIG
J/TENP3 DD DSN-SGNGP1 . THREE ,DISP=( ,PASS) ,

" SPACE=(GYL, (600,225 |RLSE) UNIT-RITBIG

770UT1 DD DS-RHTRD .SGHOKP .SAS . SUD. NUKPTSUD,

" DISP=(,CATLG),UNIT=CART,V0L=(,,,2) ,EXPDT=9980
7/WAINFILE DD DSK-HDPPRD.SYS .SaS KAT LiB HATNFILE D1S!
7/LIBRARY DD DSH-HOPPRD. iDP FHTL i i

77SYSIN b0 =
Let's perform a check.

HTBIG

OPTION NOCENTER LS=180 PS=66 FHTSE(]
F2eSplit  F3-Exit
F9-Suap  F1

exercise.
N a look at this
code, do you

problems?

Take

Erase EOF

New Line
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Fig 19 - That answer was incorrect. Please try again

That's correct
	[image: image20.png]Correcting JCL Errors It might look like we
have 4 errors here
Edil PrniScesn Setup Help but, we actually only
have two.
Sometimes one error
can effect another

What seems to being
going on here?

000012 //TENP1 DD DSH-SGHORF1-ONE ,DISP-(,PASS),
[ Z/TENPT DD DSH=S6AOKPS.ONE ,DISP=( ,PASS) .
| ooo013 7/ SPCAE=(CYL,(608,225) ,RLSE) ,UNIT
" SPCA N 225) RLSE) ,UNIT=RHTBIG
CAY637E UNKNOWN KEYWORD “SPCAE" SPECIFIED IN OPERAND OF “D0"
083 SPACE PARAMETER HOT PROUIDED FOR NEW DIRECT ACCESS DATASET

000014 //TENP2 DD DSN=S6MOKP1.TUO,DISP=(,PAST),
1/TEWPZ =S640KP1.THO  DISP=( ,PAST)
800015 // YL, (608,225) ,RLSE) ,UNIT=RHTBIG
1" 1 LRLSE) ,UNIT-RHTBIG
CAYGO4SE "PAST" A "DISPOSIT" PARAMETER OF “DISP™

900016 //TENPG DD DSN=SGAOKP1 . THREE ,DISP=( |
0017 // SPACE=(CYL,(690,225) RLSE) i You're right, space is

000018 //0UT1 ] ) .

u Help misspelled.





Fig 20


	[image: image21.png]Correcting JCL Errors

What seems to be going on here?

DISP=(,CATLG) ,UNIT=CART,U0L=(, ,,2) ,ExPpT=99 00 I

P //MAINFILE DD DSN=MDPPRD.SYS.SAS.NAT.LIB.MAINI

We have allocated an EXPDT that is too small. Let's
increase it by placing a 0 on the end of 9900.
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Fig 21 - That answer was incorrect. Please try again

That's correct
	[image: image22.png]Correcting JCL Errors

Great, you are now familiar with the correction

procedures for:

Spacing Error
Dating Error

Comma Error
Spelling Error
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Fig 22
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Fig 23
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